BREELKASH B RESER
&h £ E8(ke)|| M £ E8 (ke)
YIvbER 385 FHuAE 3
KYIvrMER 385 FHRHAL 3.4
YIvbER 3.85|| TRFHR#E 3.4
ZoVMER 4| TRFHRHAE 3.4
ZoVHRAERR 27| 8 &+ = A & 5.2
7ovb—kE 34| BI=ABEBRMT 43
7ovb— kL 28|| MIT=AREBHE 35
Zovb—KHAE 35| A=A =D2X 3.4
Zovb—KHAE 285 #MIT=AHREE 3.51
J 7 # R 9| | E=Z AR 415
/7 #* H A 205 ME=ABEET 413
J 7 ¥ R K 205 ME=AHEIEE 3.85
B 23| ME=AF=DX 3.47
B # A 28| MME=AKEE 5.1
s K & B 29| 2RAEMM=ARK 513
T R A 25| ROERAERE 7.1
T R M A 25| ROEHEEDE 7.06




MR &

& £ E=2(sa)|| A £ EE(ke)|| W £ 22 (kg)
EE T A AER 296|| ¥ EH h A 392|| ™ L 23
UEER 293|| ¥ EHE #h & 385/ #t (“M@d L 2.37
RORER 292|| # H BGRKE) 377 &/ (D L 2.34
STLERR 284|| ¥ H EGLKE) 377 &/ (R L 2.33
LEVER PAABE # & 385|| @1 K ®m ®d L 3.33
LEYRER (U1%) PAABE # &£ 369 F X @ ® L 2.72
FRERERY 294|| B ff #h A 354/| M U0 @ L 3.17
RAEBEU%ES 294|| B ff W & 12| B #t o L 244
&L EREERY 3.24 wE o L 2.19
ZiHERERY 345|| B+ A A 428| E B KR @© L 1.95
EIEHEUES 34| A+ Ak 384/ X @ L 3.06
EREER 308|| F W1 A+ A% 448|| B F #t A 2.1
F Y B+ AL 383|| A F # A 2.87
V] + 396|| RAAF+ A% 44| £ T # X 2.98
® YA T+ 389|| RAAF+ AL 408|| & St ¥ A 1.99
ARXAF + 39||BYRRXAF+AH 432| # + B 2.35
FYAXAF + 391|[BYMAXAF+HAE 403|| A R B 2.52
AAF+ 3.96|| A A+ A" 434 & & B (kg)
- X F 3.76|| MIA B+ AL 38|| E < # A B 2.8
B 3IN|| — X F A A 472|| TR Gl 422
fOA BB IN|| - X FAE 421|| £T#AE GRE) 347
EOH% 357|| &% A & 379|| & ~F % A B 3.38
A A F B 35|| A £ 323|| i A R st B 242
E B + 393|| ML A B A & 402|| IA RZ ~tB 3.05
B E B+ 395|| M1 A 8 A & 355|| R & B 43
BE WA R 382|| R &8 B 44
W B 383|| ¥ H wh A & 81| R Z T 8 B 476
W x 33| B it A A || RZ <+ & B 48
W B W%EL) 391|| B f+t #h A X% 337|| R 4 B 3.38
W E WEL) 3.41 ¥ A B 2.45
=) 394|| B+ BB W A AP =] 1.81
oW 4| F + B U & 26| F1 A BB B 1.88
o AEGTLE) 403|| A+ REYIE(XR) 315|| @ & B 1.68

o EGTLE) 347|| A+ BEYE(X) 2.67
RAF+HEY & 35| @ F A 0.58
AT TFE 2.39|| RIABTIBY £ 25| @ F B 2.14
£t <+ F & 3.13 m F C 0.78
N T & 363|]| R-sITA+#EE 51| F @ F 0.64

R-tA+HEE 5.1

RSTHABES 5

RSTHABEE 5
& & B2 (kg) & & B2 (kg) & % B2 (kg)
HhA4X M ~F X 348|| B % 4 F X 58/| A 3R M@ T X 49
HhAX A -t X 456|| 8 M 5 &t X 703|| AR A F X 6.25
HhA4X R T X 5.06|| {8 %% 6 &t X 02| & 3R X ;T X 8.47
Hh4X £ st X 68| 8 M 7 ;T X 131 AR £ T X 11.44
Hh4X J\ s X 8.07|| 8 % 8 it X 157]| & 3R I\ ;T X 14.06
HhA4X N st X 1139|| ¥8 % 6 <t F 628|| AA 5 KX T F 446
HhA4X K st F 447 B M 7 st F 802|| A%k £t &t F 6.98
Hh4X £ <+ F 567|| {8 % 8 &t F 99|| A R\ T T 8.76
Hh4X )\ st F 6.93|| {8 % 5 < [& 513|| A 58 & <t & 3.29
Hh4X B 5t BB 346|| 18 ¥ 6 < & 6.22|| A 5k X T & 453
H4X K T B 43| 8 % 7 T B& 783 A 3R £ < & 6.73
B ik J\ T 8 8.4




